
Practice Test – Grade 6 Math Answer Key 

Item 
Position 

Item Type 
TEKS 

Alignment 

Maximum 
Number of 

Points 
Correct Answers(s) 

1 Multiple Choice 6.1.7.D 1 D 

2 Multiple Choice 6.2.3.D 1 A 

3 Hot Text 6.3.8.C 2 
3w, 8(3)(w) 
See Appendix 1.1  

4 Multiple Choice 6.2.10.A 1 B 

5 Multiple Choice 6.4.14.A 1 A 

6 Multiple Choice 6.1.7.A 1 C 

7 Multiple Choice 6.2.4.A 1 D 

8 Table Match 6.4.13.A 2 
False, True, False 
See Appendix 1.2  

9 Multiple Choice 6.2.4.B 1 C 

10 Multiple Choice 6.1.5.C 1 A 

11 Multiple Select 6.2.3.E 2 
C, E 
See Appendix 1.3  

12 Multiple Choice 6.1.2.B 1 B 

13 Hotspot 6.2.6.C 2 
c = 18t, table on the left 
See Appendix 1.4  

18 Multiple Choice 6.2.6.B 1 A 

19 Multiple Choice 6.3.8.D 1 D 

20 Multiple Choice 6.4.13.A 1 B 

21 Multiple Choice 6.2.4.B 1 D 

22 Multiple Choice 6.4.14.G 1 A 

23 Equation 6.1.4.G 1 
0.875 
See Append37 0.45io534n (n)101998 (.87)56 8

 M u l t i p l e  C h o i c e  6 . 1 . 4 9 9 8  ( . 1 . 4 ) C 8 2 1  6 41  A   M u l t i p l e  C h o i c e  



The figure shows a right rectangular prism with its dimensions in inches.

Complete each statement about the prism. 

Move the correct answer to each box. Each answer may be used more than once. Not all answers will be used.

w+3 2(w+3) 3w 8(3)(w) 8+3w 8+3+w

The area of the base of the prism is 3w   square inches. 

The volume of the prism is 8(3)(w) cubic inches. 

Item 
Position 

Item Type 
TEKS 

Alignment 

Maximum 
Number of 

Points 
Correct Answers(s) 

29 Hotspot 6.3.11.A 2 
(4, 3) (3, -4) 
See Appendix 1.8  

30 Multiple Choice 6.2.3.A 1 A 

31 Multiple Choice 6.4.14.E 1 C 

32 Equation 6.2.10.A 1 
34.62 
See Appendix 1.9 

33 Multiple Choice 6.4.12.D 1 B 

34 Multiple Choice 6.2.5.B 1 B 

35 Multiple Choice 6.3.4.H 1 C 

36 Multiple Choice 6.1.2.D 1 D 
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